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ARl A5 Ad7:
2.51 x30% = 9.97 x 60% =
6.09 x 40% = 6.13 x 30% =
9.09 x 10% = 3.12 x 80% =
6.44 x 30% = 6.36 x 30% =
3.2 x 80% = 7.96 x 30% =
3.9 x 20% = 9.78 x 10% =
9.37 x 40% = 4.67 x 20% =
2.5 x50% = 8.46 x 90% =
9.53 x 40% = 9.26 x 50% =
9.3 x70% = 213 x10% =
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2.51 x30% = 0.753

6.09 x 40% = 2.436

9.09 x 10% = 0.909

6.44 x 30% = 1.932

3.2 x 80% = 2.56

3.9 x20% = 0.78

9.37 x 40% = 3.748

2.5x50% = 1.25

9.53 x40% = 3.812

9.3 x70% = 6.51

=]

9.97 x 60% = 5.982

6.13 x 30% = 1.839

3.12 x 80% = 2.496

6.36 < 30% = 1.908

7.96 x 30% = 2.388

9.78 x 10% = 0.978

4.67 x 20% = 0.934

8.46 X 90% = 7.614

9.26 x 50% = 4.63

2.13 x10% = 0.213
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